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POLITICAL SCIENCE

‘Full Marks : 80
(Part-A =40 +§Part-B =40) '
Pass Marks : 24

Time : Three hours

The figures in the margin indicate Sull. marks
for the questions.

PART-A (F -92)

Q. No. 1 carries 1 mark each (any six............... 1x6 = 6
0. No. 2 carries 2 marks each (any five) ............. 2x5 =10
Q. No. 3 carries 4 marks each (any three)........... 4x3 =12
0. No. 4 carries 6 marks each (any two) ............ 6x2 =12
Total =40
PART-B (¥ -9)

Q. No. 5 carries 1 mark each (any 2 | N 1x6 =
0. No. 6 earries 2 marks each (any five) ............. 2x5 =10
Q. No. 7 carries 4 marks each (any three)........... 4x3 =12
Q. No. 8 carries 6 marks each (any two)............. 6x2 =12
Total =40
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PART-A [ -9 [ $-Ged [ m-agrit
( Contemporary World Politics )
( TR Ry e )
( TR [gaeraife ) |
( GHAT TElsT 5@117% TR )

}_/ Answer any six from the following questions : 1x6=6

FxERe eoeies »[l R g5 e Te ol 8
ﬁvgﬁﬂ@-'aﬁ@ﬁ (ACE (T 236 2TsR BeF (T 8
TREMN SFEERA SEfesmE Jme'f e fow

(EL)/Gldia is a member state of ASEAN.  (Write Yes/No)
Ol SR TPT T (zy v )
oRS GFAER (ASEAN) 50 G 1 | /A @)
e e SR - (TR

Mho can exercise the veto’ power in the Security Cguncii ?
Frateil AR (S5 Wl (<G Sl FRA A 2
| fieTal AR (et Sl (2@ F AA?
Yafy ATRRE ER 92 TR SrEEl g™ 2
(c) . Which State is the,successo‘r of the Soviet Union ?

25 / POSC | (2]



Ffiee SR STHHAMEAR TR o T8 el ?

Which country is regarded as the third alternative centre
of world power ? : ‘ ;

@ (S PO R e (e 99 2
ofy Gierereg M % ieen S8 wrewE! A W ?
-_(e) /Write the full form of SAFTA.
SAFTA 3 7ol FolB! faral |
SAFTA~GE 159 Flfo (aveal |
SAFTA-T1 o11q #gq w?
. T\(f) Which day is celebrated as United Nations’ cllay ?
@ BIfEed AT T Srte < T 2
@i fifore gAY e Calem w4l =@ e
LURCSINE| Eiﬂisargw i ST 2
: 7(9) Write Yes’ or ‘No’:
W e R el g
o gg&a W caun §
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Technology is an important phenomenon of globalisation.
agfeim fRamas @b g9 Fe |
Ry Raree @l sl R |
fafe=ifa 9Fe MR GEei Se |
(h) What is Greenhouse gas?
TRTE (o6 o
MRICH a7 F2
Meri 7' W w2

(i) In which year India successfﬁlly tested its first nuclear
bomb ? |

(T TR SRS AL ARNARE A FATETOIE Al Fla(zT ?
(Tl 2R TS U ‘Pﬂ?lﬂT‘-Tﬁ?f AT FEFeTON (T S AR ?

a3 TEgEE uRar fifs fifs FEfean S8 STHAR SIS emTE
2 ‘
\(VWhat is the full form of WTO ?

WTO T 7™ Foih! 2
WTO-4F 7= @G F1?

WTO-f 27§, Hew =1 ?
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2. Answer any five from the following questions : 2x5=10
RefiRe @xrrea #1 Rl wist em Ted fadl ¢
afERe e (I m—mz#r ofi5f5 eirsid ©ed (el ¢
TeEfy SHEERH SEfiEsmr dFerty R o
(a) Write the theory of UN which defines the indigenous people'.
RAGT TEAKE FT{F a@w@? a1l SeeEreo! foril | '

(T SRR A Agea (el keS|

e GEERAT THR TR THeT O9E JEGE Rl
Or /%3t / @2l / Tt

Write short note on : Sacred groveé in India.

53 (Bl foTdl ¢ o1 e $6A |

R Il (eTell ¢ @ramvfﬁ@ TG |

He forum foR : 9Raf MR Y= ARH |

.{b/ Mention any two countries in South of India who are the
members of SAARC. .

Sed T e 9 B RIcAe 73 el Siga Wi e |
SRTed Wi f7E SEe SAARC-GF (- 76 5o Qg 09
(0 | '
Wﬁ@‘waWSAARCﬁmﬁaam@ﬁmmﬁﬁﬁg
- fer
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(:'}/ Write two causes of disintegration of Soviet Union.

e oM ﬂf@mﬂﬁ?gﬁ‘/aﬁaﬁ IGEIT

Flifecre 38T e 776 Tigd @l |

WA e SRS WA SR e
(d) What is meant by South Asia ?

W o e

e @ffizl <efe FI IR

Ao wfeEn Eeet T g

(e)/ Mention two causes for the failure of stable democracy in

| Pakistan. '
e oo ST CFT© Wﬁﬁ@ﬁﬁfﬁﬁqmﬁa«
Sfem sicror efovi (Fia AfFEITE JLor @?wer@cmw»r
Qi SR T Ey ST e S O S

(f) Write the permanent member nations of Secu\rity Council.
faiefel ~IFEm 2R T qgefm A Gl

iy g (SRR o S e g R
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3.  Answer any three from the following questions : 4%x3=12
elfe wues «9 R fofab 4@ @@aﬁﬁn ¢
e aeel (@ @@ foas dr Teq @Al
TRRE QAEERE safesE dRemta B ol

~——~{a) /Write two arguments in favour of and two arguments against

Globalisations.
R 751 SR T 757 AT e Bl
REEER 76 2foA0F @R 75 @feans IPE @Il |

(b) What is the necessity of/International Organisation in the

world ? Explain its role. ‘
ﬁq@w@ﬂﬁaﬁéﬂam@ﬂ%ﬁ ? ZA1 gl it <=
s ST AR ) AR @7 G T T
ER R RIS IUR amaﬁrnqrf‘w w7 A fae PR |

(c) Idéntify the causes of conflict between India and China

and suggest your solutions.
SSRCHII |
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SIS @ S T R Remefy <iie e G3 Comr A

AW B | ' ‘

TRA SR R TRRE SIS S S STRARRE! 7 SR gerat

ARI G Bl | | ' |
or /Z/ @2 / T

Write a note on Europeén Union.

ISR TS eofwe dft (Bl fordl |

BO(IFTE FALTF BAR ﬂzﬁ%% G |
gotft wafufy a9 feer fo)

(d) hat is the Balance of Power ? How can a country maintain

‘8 ‘this balance ?

WW%?&@@WW&WWW?
=T SRR 7 ol 7B @3 SRR TSR @A [ A ?
S T A T2 ? TRt T Sl WER TR g ?
Mow is the relationship between India and Nepal ?
SIESACIES HW/WWW? ‘ '

RS G mﬂnﬂammwﬁs%ﬁ? p
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ﬁ/’Ans’wer any two from the following questions : 6x2=12
A= m’ﬁﬂ;@ o[l Rigeicar whr e Ted Tl ¢
=R el & @@ 5 zfma Ted (@l ¢
My SEfesmn Je- g T o
. What is the stands of India for environmental issues ?
AR AR TS Sres gl (Sl ?

AR AT R eiren el 12

e afIed YRd gy fawen Jeife ?
Or /7231 / @Il / T&r

What is the relationship between the rights of indigenous

people and environment ? Discuss brieﬂy.'

G TR SRR S AR AT 7F & 2 53 G

<4l

PR GERTIAIRTR SRR @]g AR T AE FTe et

Sl <l |

wﬁn%ggﬁﬁw%mmmaﬁﬂ@iﬁ GrrCrRT |1 ? g4 Wed |
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\(7/“7 hat is Shock Therapy ? s this the best way for transition

from socialism to capitalism ?

B3 (R [ 7 ANAME 7_) gregamie sAfRaey TS G20 @5l SfF
w2 wfE G 2 |

& ot <ol ©iE A2 Ber '

e ¥Ufd. (Shock therapy) #1? H*-{l-\ﬂdlqrriwq EAEE|IEOCIEeE|
g o3l ﬁm?t e eI =1

(c) What is human security ? Discuss. briefly.
W ieral [ 2 530 SIEnel 41 |
T FRisrel S ACwCR| DAl P

gd @iy 7 w2 ged e |
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PART-B / <9 / <-wet / @-agrmh

( Politics in India Since Independence )
( ST ©ITeq rae )

( Ficres ok Freile )
(Wﬁaﬁmwﬁwa@n%)

5. Answer any six from the foilowing questions : 1x6=6
FefRe aubrEs [l e g5t el Teq fordl ¢
ﬁ“ﬁﬁ'ﬁ‘s{@% (AT m—@i}wwﬁmﬁ CeTel ¢
M@t SFEERE SEfesE 9 A e fer
(a) In which year Bharatiya Janata Party was formed ?

SRS Tl 7E (I 5O eﬁm Al e
oo Twel A6 @R %nta sm 1 TR ?
YR ST TfeEl o1 HEeEE A SEHA ?
(b) Which Party won the _1977 Geﬁergl Election ?
- 1977 o1 fFdivae WWWW?
1977 AR WRpE (P 7o TS FCaRe ?
1977 W forarraET S BT SRR ? _
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(c) Which princely state conducted election on the basis of

Universal Adult Franchise for the first time ?

FIAE (T <IeTE YUNRIRS 9 eleREE (O Fifed SIdNS
v wafis (afee 2 |
SRIET T AIGTTE (DI Toq S (I, (T [
Rfive eyfoe ZcalRs ?
'ﬁmmﬁﬁmﬁmé@wwmwﬁmﬁﬁm
WA foamEety SeidH ? |

(d) Who was the Prime Minister of India after Pt. Jawarharlal
Nehru ?

CEESEI GRCIESS BT S W eqTEl (I e 2
GesaEd (EFEd A7 OR(ed d4NTEl (& fRe 2
SR TeE I RA TRl A R SRHA ?
(e) From which year the firsfc FiV;i ;{ear Plan was started ?
(P 597 o1 22N~ AR ATE (e 2
@F{ﬂm (A YA AR AR AT ZeAfee ?

T8 ymerfwa T o1 SenR fagify STeEAmE . S ?
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f) What is the full form of EVM ?
EVM 3 3 S8t fovai
EVM-48 T elf (ool |
EVMFT o T w2
(9) Who was the chief architect of India’é foreign policy ?
WW%'W%%@W@W;@@@?
wrred R qifes 3 goAfei e it

(h) When was Sikkim merged with India ?

B fon Ses @ srfi?f 2w 7 | ‘,
o) eS| dsel SSIeREE Sl ?
(i) Who was the first non-Congress Prime Minister of India ?
Tree 2N SRR AU (PR Wi ¢
SIRCST N SRl Sl (3 fereme
wratt fife Shish 9 TMeE A §ROAH?
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() When was Assam Movement organised on foreigners’

issue ?

Roef STEpie 7 PN SR el ol T2 ?
R e R SN Sieie 0d Aeeiie Zraee
Wm@mﬁmmwwm7

6. Answer any five from the following questions : 2x5=10
oo eePTES A9l Rz Aivh e Tes Rl
fxFiRe el (@ @@ Aol dem Ten T ¢
e SRR e S e R

wméﬂn the concept of ‘\lzvhip’.

R0 IR 01

‘Whip’ =eife 1 & |

‘Whip’ FFGIR/@E HAM |

(b) Write a short .note on : White_Revolution ‘

vy Gl i s oz e

G TRl T ¢ oo e

24 o T ST
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(c) On which date draft of the Indjan Constitution was signed
and it came into force ?

&l IR ©les MR A5are wpwa (@ S B @ouR sl
IRfR CaleeT ¢ L

o IR OISR MR Wyuire FEE 2@ @8 G T
(AE FIEFA 2R 2 -

) e ST WA T e () S A SR
S AR RIS 2
(@) Aention two objectives of et foreign policy ?
T ORI TS 757 Trwpeyy ramdl 31
(R 'Zatwﬁm Mex 775 ey Seard <ol |
el o TRAR wfeft WY gife
(e) Write a note on NDA.
NDA 3 @?qe @t (Gl foral |
NDA-G3 T3 @315 Tl (ol |
NDA-f1 o 9w fergemd ferl
Mhy was State Reorgépisétion Commission set up ?
A 7|7 oFow S e oo T4 = 2
ATT 2ol ST efém = A @1
TS It S A S SRR 2
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"_T/Answer any three {rom the following questions : 4x3=12

Ffeiie expmes @ [P fofor e Tea fal ¢
=i exalem @@ a6 oeg Tea @l ¢
TEEN SiERRiER SEEsT geamf e ol

(a) How did the fourth General Elections in 1967 change the
dynamics of Indian politics ?

SITed ACAINST Aok 1967 b bwd R o s
eGSRl ? i

SICeR AEHIe SO 1967 IAicem bgd A FRivT FTei
SN SRR ? .

WAl TeREtef SRS 1967 HEPRH SR fawmErateE
Hrefe. AAFAE AN 2 ' ‘

(b) Write four features of India’s coalition government.

Oleod FAIE Wbl 5T bIfRbY (IS |
W WIS (] I BRI + CAMIZ) (eTCal |
qRAf SR & LR A 3411@9113 foer |
\LCV How the problem of Regionalism can be solved ?
- e T R TaR SR o4 e
SEFEORIME TR Feld AN I @S AN 2
AERER SHREl AEfe e g ?
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Or /723t / %A1 / qar

Give a brief note on Jammu-Kashmir.

CoolloY 290

@ml_—@[xﬁga woge At (B &4 |
GRS B @ AR Fepl (=T |
STy IR T B e ﬁﬂ'{’l

(d) What were the causes for mid-term eiectién in 1980 ?

1080 TR ST IO SRR T i ¢

1980 AR VTN b= aﬂﬁq@ﬁ 1 1 e
1980 mmﬁwmﬁwarﬁm@?mmmm?
Or /723t / 9% / T
Who announced Twenty Point Programme and why ? |
@I FR wrr il cael ﬁéﬁ%ﬂ wie 57 e
- 3% TR SO (@ CAREl SRR G (@ y
(€) at is Green Revolution ? Discuss the economic and

political outcome of Green Revolution.

FIw [Jed & 2 Clow [ Stefos B IEies TP SCenal
| ' '
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e gl 92 TG el weioss g AT e Sl

T
Meft e o 2 el Sifgerafy et SR Tera-2R fEEhRe
BICHER

8. Answer any two from the following questions : 6x2=12

fFrfie exprea =@ R 7oy e Ses sl ¢
FafEfe amief (A @@ h awE Tea Gl
e FAREERA SRS JeH T fer

(a) When was the Bharatiya Jansangha formed ? Discuss its-

ideologies. i
SieoR GERY (el siide Cafte ¢ BalN Wi R icEnAl 9 |
@ ORI GiY 9Afde TRRE? @ SR REt SIicEs S|
TR S ATl S SIREA 2 S See T de Hiew |

Or/‘l?’??f/@?/?f/@

Analyse comparatively about the nature of vCongress

dominance in India.
Eﬁﬁﬁif«ﬂi%ﬁ%ﬁﬁﬁEﬁﬁ%ﬂ“mﬁigﬁmﬁﬁfﬁaﬁmvmw«ﬁal
ST T TSR 2 it G st 2wt |
e I TS Rgeafy WA TR ffRfy e 3
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7() What are the main considerations of the merger of Princely
State with United India ? Who played historical role in it ?

ﬂvﬂ\wﬁatﬂrwﬁ—wmﬁmﬁaﬁmﬁi
& 2 @3 e W AT e =T 7

Tﬂ\W@WWW@WW%W | |

I 17 @B I Aot ofiw @ Rl

WG{%@E@ {MQ;{%IMWW@@T@@@W
fafemm o ™2 9 SECEE UR MR e ARiHe 2

(;’ (c) What is Foreign Policy ? Explain briefly. .
RS TS & 2 e D =4
o T M2 wwe T )
T TSR Wit W2 g5 SR |
Or /7IZ1/ &1/ Tar
Write a note on non-alignment in India’s foreign policy.
SR (AT Moo (SRSl TA=iE @6 (Bl |
SRS A AT CISHARCATS! H{ts @ et et |

IR ICIE ng@rﬁ@ﬁuﬁw fa @e (Non- allgnment) 4
'mﬁémm
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